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Various Configurations for Quartztof
by Kristina Yancey




= Test
photon
using
simple
parabolic
mirror--
works!




beam

| Arrival x vs y on Detector |

-t
o

# of Photons
P

Entries
Mean x
Mean y
RMS x

10

-0.206

35
1% 20

-

# of Photons
(=]

beam
Entries 10
Meanx  -0.206
Mean y 0
RMS x 0
0

Gun position (1, 0, 5)

# of Photons

# of Photons

=
o

a o o™

—
(=] L= -] (=]
|||_||||||||_||||||

s

Arrival x vs y on Detector |

beam

Entries
Mean x
Mean y

g RMS x 0

i, RMS y 0
(mm)

beam

Entries 10

Meanx  0.206

Mean y 0

g RMS x 0

RMS y 0




e Same mirror
as from
horizontal
position, just
tilted
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Various photon beams on detector—do not hit focal point
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Cone-detector-mirror
configuration
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Radius vs. Wavelength
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